05596-10_A TRtV R , 18X , AE , AIBE

7= miiEA

M
PC/ABS,

I
26, ABREXREFE,
B, g AeRBEXREIEE,

B

XEHESRITTERARNEF |, THRA, FEIMNPEH,
BRHEMBTAENRYT , EATFEANITREE. B T8EMNEE> R
ReReH,

AT EWILF AP LIRS,

TR (SR ) ¢ ES N UL9A-HB A5,
RIS R B ARE - 2 Nm.

fEFHER :
NEHIEFE | FPAETITANCE , BIWITHI ). XENE283RAM
E. tBAIMNEEBREDH.

NA :

- RET

- BT EAR

- MLl

- FRfR AR
- IR zE

- RETW

RE -

1. REEAFERETO,
2. EEREXHR,

3. FAREDHNENEE.

#HEE

LTHEER | UREENRE (M5) MEEXRERETEN.
XA ATBER R ESEA 2 AR

ZEIENIRE (M5) REEEHRETBTER.

REETR :

1) I14R

2) {25

3)IEF

4) BRETHE

5) RERESE (FBSNKHT)
6) Z&t10

© norelem www.norelem.com



05596-10_A TR ERBES , 18X AR, AHE

® gD
(Y‘/
T \
7 — ]
o | 2
T l B
:: Tf\ I
VAN .
2
u." |
L1
L:1,5
L2
|
| \ D1+1,2
'%Q— 6)
11 1 1 |l —~| @ ~
| °) e 1 \“*
=] T
|
05596-10-2102356000 A ASEN | BB | BE[28[60 40| 52 |50 50 | 55 35,41 35 | 4
05596-10-2107356000 A AYEN | B | B€ | 28|60 40 | 52 | 50| 50 | 55 35,41 35 | 4
05596-10-2112356000 A ABEN |E® | B® 2860 40 | 52 | 50| 50 | 55 35,41 35 | 4
05596-10-2117356000 A ASEN | BB | B®[28[60 40| 52 | 50| 50 | 55 35,41 35 | 4
05596-10-2102356022 A TUBEN |O® | A® [ 2860 40 | 52 | 50| 50 | 55 35,41 35 | 4
05596-10-2107356022 A A8EN |H® | A& 2860 40 | 52 | 50| 50 | 55 35,41 35 | 4
05596-10-2112356022 A AMEN | Be | @& 28|60 40 | 52 | 50| 50 | 55 35,41 35 | 4
05596-10-2117356022 A AUBEN |B® | Af® 2860 40 | 52 | 50| 50 | 55 35,41 35 | 4
05596-10-2102356033 A ABEN |KB|KE[28[60 40| 52 | 50| 50 | 55 35,41 35 | 4
05596-10-2107356033 A ABER | KB | K& [ 2860 40 | 52 | 50| 50 | 55 35,41 35 | 4
05596-10-2112356033 A ABER | K& | K& [ 2860 40 | 52 | 50| 50 | 55 35,41 35 | 4
05596-10-2117356033 A AHEN | K& | K& | 28|60 40 | 52 | 50| 50 | 55 35,41 35 | 4
05596-10-2102356001 A ABEN | E® | %% 2860 40 | 52 | 50| 50 | 55 35,41 35 | 4
05596-10-2107356001 A ABEN | BB | %K [ 2860 40 | 52 | 50| 50 | 55 35,41 35 | 4
05596-10-2112356001 A ABEN | B® | %% [ 2860 40 | 52 | 50| 50 | 55 35,41 35 | 4
05596-10-2117356001 A ABEN | E® | 8% |28 60 40 | 52 | 50| 50 | 55 35,41 35 | 4
05596-10-2102356000 A |2 (22261 23|39,2|14(42,9(3,8/12,7|7,2 270 50 | -30 bis 60 2-7 M5X16
=2
05596-10-2107356000 A [E (22261 23|39,2[14|42,9(3,8[12,7|7,2 270 50 | -30 bis 60 7-12 M5X20
=3
05596-10-2112356000 A |E [22]26,1 23[39,2(3,8/42,9(3,8(12,7|7.2 270 50 | -30 bis 60 12-17 M5X16
@
05596-10-2117356000 A [E [22]26,1 23|39,2(3,8/42,9(3,8/12,7|7,2 270 50 | -30 bis 60 17-22 M5X20
=
05596-10-2102356022 A A [22]26,1 23|39,2(14|42,9(3,8[12,7|7,2 270 50 | -30 bis 60 2-7 M5X16
=2
05596-10-2107356022 A A [22]26,1 23|39,2(14|42,9(3,8[12,7|7,2 270 50 | -30 bis 60 7-12 M5X20
&
05596-10-2112356022 A [A [22]26,1 23|39,2(3,8/42,9(3,8[12,7|7,2 270 50 | -30 bis 60 12-17 M5X16
&

© norelem www.norelem.com



05596-10_A iR BRI ZES , 18X , A E , AHE

E:| H5 Hé6 H7 BEEE |[S=IREE,
all)| ves B mm
Bl
-0 | @I - v ]

05596-10-2117356022 A B -30 bis 60 M5X20
&

05596-10-2102356033 A | K [22]26,1 23|39,2|14|42,9|3,8|12,7|7,2 270 50 -30 bis 60 2-7 M5X16
&

05596-10-2107356033 A K [22]26,1 23|39,2(14(429(3,8/12,7|7,2 270 50 -30 bis 60 7-12 M5X20
=)

05596-10-2112356033 A [K [22]26,1 23[39,2(3,8/42,9(3,8|12,7|7,2 270 50 -30 bis 60 12-17 M5X16
&

05596-10-2117356033 A [K [22]26,1 23[39,2(3,8/42,9(3,8|12,7|7,2 270 50 -30 bis 60 17-22 M5X20
&

05596-10-2102356001 A [# [22]26,1 23[39,2(14]42,9(3,8|12,7|7,2 270 50 -30 bis 60 2-7 M5X16
#®

05596-10-2107356001 A [ [22]26,1 23[39,2(14]42,9(3,8|12,7|7,2 270 50 -30 bis 60 7-12 M5X20
#®

05596-10-2112356001 A [ [22]26,1 23[39,2(3,8/42,9(3,8|12,7|7,2 270 50 -30 bis 60 12-17 M5X16
#®

05596-10-2117356001 A |% [22]26,1 23|39,2(3,8/42,9(3,8/12,7|7,2 270 50 -30 bis 60 17-22 M5X20
#®

© norelem www.norelem.com



